Orden de Operaciones (I)

Realice las operaciones en el orden correcto.

. 23,8 x(0,27+ 88,31 +7,93 427,34+ 82,11+ 88,74)

[

N

- (36,05 +75,92 — 18,97) x 52,76 — 95,84 — 47,57 — 21,17

W

. 3,97+ 62,64 96,56+ 67,23 — (82,7 — 34,44) — 90, 54

4. 71,63+ 85,83 + 89,64 +70,29 + 45,34 + 43,88 + 88, 44

. 93,41 490,89 — (76,46 — 75,57+ 57,72 — 44,19 — 0, 85)

9

MatesLibres.Com




—_—

\S]

W

N

91

Orden de Operaciones (I) Answers

Realice las operaciones en el orden correcto.

. 23,8 % (0,27 +88,31+7,93+27,34+ 82,11+ 88,74)
—7.013,86

- (36,05 +75,92 — 18,97) x 52,76 — 95,84 — 47,57 — 21,17
— 4742, 1

3,97 +62,6+96,56+67,23 — (82,7 — 34,44) — 90, 54
—91,56

: 71,235+0855,83+89,64+7O,29+45,34+43,88+88,44

. 93,41+90,89 — (76,46 — 75,57 + 57,72 — 44,19 — 0, 85)
—.170,73
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